1. A jeweller prepared a window display each  displaying  3 of the 7 jems at a time . They were  Amethyst,opal,sapphire,emerald, ruby and garnet.Displayed according to the following conditions:-

1 A sholud always be displayed on the left window and  D on the right.

2 Ruby should never come with any of  D or G.

3.E should always be  with S.

then some  4 questions were asked on this. easy

 #1 which combination is appropriate?

#2 which condition is correct in the right window?

#3 Ruby can be  displayed with following other two?

#4 S can be displayed with the following other two on left side window?
2.Tom sent some stamps to KIM and JOANE.

tom asked kim abt how much each of them got

kim replied 'Joane got three more than half of wat she got,if 

i had kept three more than half of wat she got.'

tom said'OK how much did u keep?"

Kim replied "jus 2 more than wat jone got!".

How many stamps did TOM send?

3. A and B play a game of dice between them.The dice consists of 

colours on their faces instead of numbers.

A wins if both dice show same color.

B wins if both dice show different colors.

one dice consists of 1 red and 5 blue.

what must be the color in the faces of other dice.(i.e how many 

blue and how many red?).

Chances of winning for A and B are even.

(5 Marks)

4. A, B, C, D&E are having their birthdays on consecutive days of the week 

not necessarily in the same order. 

A 's birthday comes before G's as many days as B's birthday comes after E's. 

D is older than E by 2 days. 

This time G's birthday came on Wednesday. 

Then find the day of each of their birthdays?

Ans: 


Birthday of D on SUNDAY 

Birthday of B on MONDAY 

Birthday of E on TUESDAY 

Birthday of G on WEDNESDAY 

Birthday of A on THURSDAY

5. 13 kigs and 6 libs can produce 510 tors in 10 hrs,

     8 kigs and 14 libs can produce 484 tors in 12 hrs.

Find the rate of production of tors for kigs and libs.

Express the answer in tors/hr.

6. Tom wants to catch a hare. He is standing 250 yards

south from the hare. The hare starts moving due east.

Tom, instead of moving in the northeast direction,

moves in such a way that at every instant, he is going

towards the hare. If speed of tom is one and one-third

times that of the hare, find the distance each

traveled before he caught the hare.

7.  A company's director said during the board

meeting: " The company's income from roads will be

sufficient to pay 6% of the entire stock issue, but

since we are paying 7.5% interest on the preferred

stock of Rs.4, 000,000 we are able to pay only 5% of

the common stock". Find the value of the common stock.

8. A wall clock loses 10 minutes every 1 hour. In 1 hour by the wall 

clock , a table clock gets 10 minutes

ahead of it. In 1 hour by the table clock an alarm clock falls 5 

minutes behind it. In 1 hour of the alarm

clock, a wristwatch gets 5 minutes ahead it. At noon, all 4 

timepieces were set correctly. To the nearest

minutes, what time will the wrist show when the correct time is 6 

p.m. on the same day ?

ans---5:47:32.5

9. "You see," said Mrs.Murphy,"Paddy is now one and one-third times as 

old as he was when he took to

drink, and little Jimmy, who was forty months old when paddy took to 

drink is now two years more than half as old as I was when Paddy took 

to drink , so when little Jimmy is as old as Paddy was when he took 

to drink.our three ages combined will amount to just one hundred 

years"

How old is little Jimmy?

10. Both the Allens and the Smiths have two young sons under eleven. The 

name of the boys whose ages rounded off to the nearest year are all 

different are Arthur, Bert, Carl and David . Taking the ages of the 

boys only to the

nearest year , the following staements are true

* Arthur is three years younger than his brother

* Bert is the oldest

* Carl is half as old as one of the allen boys

* David is five years older than the younger smith boy

* the total ages of the boys in each family differ by the same amount 

today as they did five years ago

11. In a certain organization there are either men eligible to serve on a newly established commitee of four. The 

selection of the members is not an easy matter , however for there 

are jealousies and attachements among the candidates which prevents a 

free choice of four committeemen, if you were the president of the 

organization could you select a committee of four satisfying all 

these whims?

* Ames will serve with anybody

* Brown won't serve unless Clayton serves

* Clayton wont serve with  Evans

* Davis wont serve without hughes

* evans will serve with anybody

* French wont serve with Davis unless Grant serves too, and wont 

serve with Clayton unless Davis also

serves

* Grant wont serve with both Brown and Clayton and wont serve with 

either Ames or Evens

* Hughes wont serve unless either Brown or French serves and wont 

serve with Clayton unless Grant serves too and wont serve with both 

Ames and Evans

12. A man was on his way to a marriage in a car with a constant speed. 

After 2 hours one of the tier is punctured and it took 10 minutes to replace it. 

After that they traveled with a speed of 30 miles/hr and reached the marriage 

30 minutes late to the scheduled time. The driver told that they would be 

late by 15 minutes only if the 10 minutes was not waste. 

Find the distance between the two towns?

13. A Couple decided to travel a north country side .so they decide to travel

a minimum amount on car the first day and the second and sbsequent day 

a distance of 20 miles .If they travel a total amount of 1080 miles.Find 

he distance travlled on the  4th day and the 9 day.

14. During a Pizza buffet where A eats2.4  times mores than B, and B eats 6 times

less than C.find the least number of times all the three has to eat.

15. Amir,shahrukh,sunil and salman were quarelling among them saying each ones daughter 

madhuri,rani,junhi.manisha is more beautiful than other .so they decide to have a poll.

each one has 5 votes to be distributed among the 4 and highest vote that can be given 

is 3 and the of votes are different from rest

(if salman gives votes like 2,2,1,0 ,this cant repeat with others).

The other restrictions are :

salman decided that it will be prudence to share equal marks between all the freinds daughters.

sunil gives Highest vote to his daughter rani.

amir gives equal marks to Manisha and juhi.

shahrukh doesnt give any marks to his daughter as he thinks his daughter is haughty enough for 

other to vote .

Give the votes poled by others to Madhuri.

16. xyz +yxz = zxy  find x,y,z this question u will get in freshersworld paper

17 A supportive young hare and tortoise raced in opposite directions around a circular track that was 100 yards in diameter. They started at the same spot, but the hare did not move until the tortoise had a start of one eighth of the distance ( that is, the circumference of the circle). The hare held such a poor opinion of the other’s  racing ability that he sauntered along, nibbling the grass until he met the tortoise. At this point the hare had gone one sixth of the distance. How many times faster than he went before must the hare now run in order to win the race ?
  (Ans:    85/4)

18. All handsome, fair skinned, muscular, lean, employed, and rich men are tall.

All handsome men are fair skinned.

Some muscular men are handsome.

Some muscular men are not fair skinned.

All lean men are muscular.

No lean man is handsome.

No fair skinned man who is not handsome is rich.

All tall men who are neither fair skinned nor muscular are employed.

1. pramod is not fair skinned. Which of the following must be true ?

       a) pramod is employed

       b) if pramod is muscular, he is neither handsome nor lean

       c)  if pramod is tall, he is employed or muscular.

       d) if pramod is not employed, he is muscular.

       e)  if pramod is tall, he may be muscular or handsome, but not both.

2. which must be false if the information given is true ?

        a) no lean men are fair skinned.

        b) some fair skinned are lean.

        c) some rich men are both fair skinned and muscular.

        d) some tall men are neither fair skinned nor employed

        e) some rich men are lean

3. which of the following can be deduced from the information given ?

        a) all rich men are handsome

        b) some rich men are handsome

        c) some rich men are employed

        d) some rich men are muscular

        e) all rich men are handsome, muscular, or employed

4. which cannot be shown to be true or false on the basis of the information given ?

        I. No fair skinned or muscular man is employed

       II. Some muscular men are fair skinned but not handsome

      III. No fair skinned man both handsome and lean

       a) I only         b) II only          c) III only         d) I and II        e) II and III 

19. In a grass field if 40 cow could eat for 40 

        days.The same grass field can feed 30 cows for

        60 days.how long will it feed 20 cows?

20.An Eraser,Pencil,Notebook together costs $1.00. Notebook costs more than the cost of 

 2 Pencils. 3 Pencil costs more than 4 Erasers. 3 Erasers costs more than a Notebook.

 How much does a pencil costs? (5M)

21. A cow was standing on a bridge, 5feet away from the middle of the bridge. suddenly a lightning express with 90 miles/hr was coming towards the bridge from nearest end of the cow.seeeing this the cow ran towards the express and managed to escape when the train is one feet away from the bridge. if it would have ran to opposite direction(ie away from train) it would have been hit the train one ft away from the end of the bridge. Calculate the length of bridge.

22. There are 100 bulbs connected to 100 switches

· 1 to 100 all the switches are put ON.

· Only even numbers of switches are used ie, ON means OFF and viceversa

· Similarly odd numbers of switches are done

· Switch number which is divisible by 3 are done similarly

· Switch number which are divisible by 4 are done similarly 

This process is done upto 100 divisibles.

When do all the bulbs are in ON and OFF condition?[8marks]

23. A man wrote his “will’ accordingly the money was also shared between his car driver,5 sons and 5 daughters.First he gave one rupee to his car driver,remaining 1/5 of the money is given to his 1st son .again he gave one to his car driver and remaining 1/5 of the money is given to his 2nd son, continuing the process until 5 sons are completed .After that he remaining money is divided between his 5 daughters. What was total amount of money?

25. A boy is at 250yards south to the hare.the hare is running towards east.

Instead of going in North-east direction .if the follows the hare with 

1 and 1/3rd (1+1/3)the speed of hare,what is the total distance travelled 

by him to overcome the hare?

And what is the distance traveled by hare before the boy overcomes it?

26. In  a business, A invested 31/2 times more than B.They wanted to include C 

by taking an amount of Rs2500 from C. How should tha amount be divided 

among A and B such that three of them get the same interest?

27. A kid goes to a bank with a checque... Comes back and says he spent 35 cents .. his mom says you have brought back twice what u ver supposed to get. What happened is the novice bank clerk gave dollars for cents and vice-versa(quote silly) anway... What was the actual amount??

Ans: 21$ 43c

28. G: I am 22

     M = G + 2

     H = G - 1

  H: I am not the youngest.

      difference between M & H is 3

      G is 25.

  M: M is younger than G.

      G = 23.

      H = G+2.

      Mr.G,Mr.M,Mr.H made only one statement false.

Find the ages of all three.

30. a train after running for two  hour blastedsomrthing and  runs with 3/5th of its original speedand reaches the destination two hour late. If the

blast has occurred after  50 miles it might havereached the destination

40 minute earlier. Determine the distance totaldistance travelled.

ans. 200 miles

31. there was a community in which there were 1000 couples.In that 2/3rd 

of men who r taller r also heavier n 3/4th of the men who r heavier r 

also taller n there were 120 women who were both heavier n taller than 

men.So how many men r both taller n heavier?

(3 marks)

Ans:

32.  Find the weights A B C        6 marks 

      Easy but little tricky

                                

                                             5m                     7m      

                                                      

                                  

                    

3m    2m

    

2   2.5

The weight balances exactly find A B C

33. There are some chicken in a poultry. They are fed with corn

One sack of corn will come for 9 days.The farmer decides to

sell some chicken and wanted to hold 12 chicken with him.

He cuts the feed by 10% and sack of corn comes for 30 days.

So initially how many chicken are there?

34. Two people X & Y walk on the wall of a godown in opposite

direction. They meet at a point on one side and then go

ahead. X after walking for some time, walks in opposite

direction for 15 mtrs.Then again he turns back and walks

in the original direction. What distance did Y walk before

they met again, if X walks 11 mtrs by the time Y walks

8 mtrs.

35. Two men are goingalong a trackf rail in the opposite 

direction.One goods train crossed the first person in 20 sec. 

After 10 min the train crossed the other person who is commingin 

opposite directionin 18 sec .Afterthe train haspassed, when thetwo 

persons will meet? Approx 72min check it once.

36.A problem on watch,husband watch gains 1min every hr and wife watch looses 2min/hr    By seeing the watch running slow they almost missed an function by visiting function 1hr late. Then when was  both the watches set to correct time? 

37. 40 cows graze a patch in 40 days.30 cows in 60 days.if grass is growing at a some (not given in Q) constant rate.fing in how many days will 20 cows finish tht field???? 3marks
Ans: i think i wrote 120 days(doubtful!!!)
38.shakunthala one.(I'm 100% sure)i'm going from A -> B and my car is punctured.it takes 10min to fix tht.bcos         of tht i drive the rest of  the journey at 30miles/hr and reach 45 or so min late.had this puncture taken place after some 20-25 after the place where it actually happened and same 30miles for the rest of the journey i wud 
have been only 3o min late????find dist b/w a b????


39/.. Jonty went for movie with his family but at ticket window a lot of rush present   so he was getting upset,then his father told him I am giving you a puzzle for you ,so that your time pass properly, he was agree then his father told him here lines of people at every after third man there was a kid ,but number of man and women is three times to the number of kids , Total people value lies between 800 to 1000.

Can you tell me number of kids and number of adult.                                                        [6 Marks] 
Answer:- 300 kids and 600 adult (I am not very sure for this question)

40 .There was a race b/w 3 people: me, doug and anne when I take 21 steps the distance covered is equal to
dous 24 steps and annes steps. I take 6 steps to every 7 steps of doug and 8 steps of anne.who won the race?
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